Struktogramme

let stellung = game.fen()

let neueSchachtel = new Schachtel(stellung)

this.alleSchachteln.push(neueSchachtel)

neueSchachtel.machezug()

let randomIndex = Math.floor(Math.random() * this.perlen.length)

let randomZug = this.perlen[randomIndex]

let move = game.move(randomZug)

board.position(game.fen(), false)

checkState(move)

let stellung = game.fen()

for (let i = @ ; i < this.alleSchachteln.length ; i++)

let hilfsschachtel = this.alleSchachteln[i]

if (schachtel.stellung == stellung)

true false

hilfsschachtel.machezug()

return

let index = this.perlen.index0f(zug)

this.perlen.splice(index,1)




let gemachteZiige = game.history()

let verlierenderZug = gemachteZiige[ gemachteZiige.length - 2]

game.undo()

game.undo()

let verlierendePosition = game.fen()

for (let i = @ ; i < this.alleSchachteln.length ; i++)

let schachtel = this.alleSchachteln[i]

schachtel.stellung == verlierendePosition)

true

if (schachtel.perlen.length > 1)

true alse

this.alleSchachteln[i].entfernePerle(verlierenderzug)

return

for (let j =1 ; j <= (game.history().length - 1) / 2 ; j++)
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